
1. Which pictures represent ½ ?

2. Write missing numbers in the sequence.

Reasoning

Grammar and punctuations

5. The polar bear class has 28 children. Half are girls and half 
are boys. The tiger class has 10 more girls than the polar bear 
class. How many girls are in the tiger’s class?

31       +                  =    79

- 11      =   45

8   +   10   +              =  30 

59   - 20   - 20   =  

½  of 28   = 

¼ of 40   =  

9    X     2  =  

÷ 5   =   4     

Spellings

Arithmetic

1. Glove
2. Soap
3. Boxes
4. Catch
5. Foxes

3. Put an arrow on  number line to show 65.

Sarah is thinking about the earth.
Write a question she could ask her teacher in the speech bubble. 

What type of sentence is below? 
Go to bed.

 A question
 A command
 An exclamation
 A statement
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4. Emma, Ali, and Sara finished their homework at the specified 
time. Who took less time to finish? 

 1 minute      
 80 seconds         
 65 seconds  

Remember to use 
correct punctuation.


